	Pikieta 


	Powierzchnie

Przekroju

m2
	Odległość  


	Objętość

m3
	Zużycie na miejscu


	Nadmiar


	Bilans 

	
	Nasyp
	Wykop
	
	Nasyp
	Wykop
	
	
	

	1
	2
	3
	4
	5
	6
	7
	8
	9

	0+000
	2,40
	0,00
	
	
	
	
	
	0,00

	
	
	
	12,5
	35,0
	3,75
	3,75
	-31,25
	

	0+012,5
	3,02
	0,60
	
	
	
	
	
	-31,25

	
	
	
	27,5
	84,84
	17,6
	17,6
	-67,24
	

	0+040
	2,97
	0,68
	
	
	
	
	
	- 98,49

	
	
	
	12,5
	36,63
	13,56
	13,56
	-23,07
	

	0+052,5
	2,89
	1,49
	
	
	
	
	
	- 121,56

	
	
	
	7,0
	22,19
	5,22
	5,22
	-16,97
	

	0+059,5
	3,45
	0,00
	
	
	
	
	
	- 138,53

	
	Razem
	
	
	178,66
	40,13
	40,13 

	
	


TABELA  ROBÓT ZIEMNYCH

Zestawił: 

